BAH/KEKDBETEE A EER
[KEBEKDEEBEE (29 L134KR0U137/DAEr) 10Ba/kg]
ORE B EF

ERE30FE6A4H(A) FRI0F00S ~ F1£04F5005
FRE30E6H5B () F-HII08RF30 ~ F1£1285005

OF#L: FK
EEUG ) i134 +37)1137
HEFKG T (0.8) T (0.9)
INE &KIS T (1.0) N (1.0)
& FERF KIS T (0.7) N (0.7)
KR & K5 T (0.8) N (1.0)
WwiEF K5 THH (0.9) THH (1.0)
HIt KIS THH (0.9) N ETY (0.9)
ZFKIE THH (0.9) THH (0.9)
Y] THH (0.7) THH (0.6)
HEF KIS THH (0.9) THH (0.8)
FAEmEF KIS THH (0.7) THH (1.0)
B&5Ki5 T (0.9) T (0.8)
FrEr iR KIS THH (0.7) N ETY (0.8)
B 5K5 THH (0.7) THH (0.9)
T ERIRFKE N (0.7) N (0.8)
B/NE) KIS THH (0.7) THH (0.9)
LIS ENETY (0.8) THH (0.8)
EEYS THH (0.7) THH (0.8)
=& 5K THH (0.8) THH (0.8)
th = K5 K3i5 ENETY (0.8) THH (0.9)
FriR & Kis T (0.7) N (1.0)
INR KIS T (0.9) N (0.7)
BAR)IFKIS ENETY (0.8) THH (0.9)
EERIRFEKS T (1.0) N (0.7)
EREILER % KI5 ENETY (0.9) THH (0.7)
EEMmEFKIE ENETY (0.5) THH (0.8)
B R H KIS T (0.9) N (0.8)
JIHRZ Tt FKIE ENETY (0.9) THH (0.7)
MEEYS THH (0.8) THH (0.8)
B3 KI5 THH (0.8) THH (0.8)
T BEF KIS ENETY (0.9) ENETY (0.9)
= B KiS T (0.9) N (0.9)
FlhRFKE ENETY (0.8) THH (0.9)
EELFHKES ENETY (0.7) ENETY (0.8)
H [:$Ki5 T (0.7) N (1.0)
&)l F KIS ENETY (0.6) THH (0.9)




